Question 2: If the systemn of linear equations
2x +Z2ay+az =0

2x+3by+bz=0and

2x+dcy+cz=0

where &, b, ¢ € R are non-zero and distinct, has non-zero solution, then
(aja+b+c=0

(b] 1/a,1/b, 1/care m AR

(c)a b,carein AP

(d)a b, careinGP

Answer: (b)

Solution:

Given system of linear equations
2x+Z2ay+az =10

2x+3bw+bz=0and

2x+4dcy+cz=10

MNow,
2 2a a
2 3b bl =0
2 4 ¢

Rg — Rg —Rl I'HH!R;{ — H;j — Rl

2z 2a 1.
0 3b—2a b—al=0
0 4c—2a c—a

=>(3b-2a)lc-a}-(4c-2a)b-a) =0

=» 3bc - 2ac - 3ab + 2a° - [4bc - 4ac- 2ab+ 287 =0
==-bc+2ac-ab=0

=>ab+bc=2ac

=Y+ 1/a=2/b

Which shows that 1/a, 1/, 1/carein AP



